< 1CAREER POWER

Q1. Azadirachata indica is the scientific name of -
TeTRTET SR gt d=fas am -

(a) Neem/ =&

(b) Teak/ AT

(c) Silver Oak/ ffrea¥ =

(d) Tulsi/ Tt

Q2. Octopus belongs to the phylum -
Arere e, g wreaw & siavia smar
(a) Mollusca /Te[&hT

(b) Cnidaria/fA=Tf=T

(c) Echinodermata /Tsi_re¥HTaT
(d) Chordata/®TEaT

Q3. Medulla oblongata is a part of which of the following?
AT Srsr=TTeT Rt # & e a1 oF {82

(a) Heart /fa=t

(b) Brain /¥f&qs®

(c) Lungs /%S

(d) Stomach /3=

Q4. Photosynthesis in plants takes place in -
Gt H RIS HEHOT R AT W AT | -

(a) Stem / qAT

(b) Leaves/ afxrat

(c) Roots / 5=

(d) Flower / &<T

Q5. Which drug is used to cure Hypertension?

g THATT HT TATS HLA & [T [ 4T 7 STINT 34T <77 872
(a) Risedronate / ¥i{Ae

(b) Diazepam / STISITH

(c) Folic Acid / ®ifer® Ufere

(d) Hydralazine / grgTaTiore
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Q6. Which is used as laughing gas is-

T A (ATTERT A9 F T § ITANT H ST AT 79 -
(a) Nitrous Oxide / ATS2H 3fFATES

(b) Nitrogen dioxide / ATS IS STSFTZS

(c) Nitrogen Trioxide / ATSEISIA STASMFATSS
(d) Nitrogen Tetra Oxide / A2 d2TAFATES

Q7. Whatis Nila thotha?

T M FATE ?

(a) Copper Sulphate / FHUT Tohe

(b) Calcium Sulphate / Ffeera Tethe
(c) Iron Sulphate / TITH e

(d) Sodium Sulphate / HTEIH Tothe

Q8. Which is the fundamental element of all organic compounds?
Tsft FEE TR 7 g ad 741 57

(a) Nitrogen /ATZ2re

(b) Oxygen /3RS

(c) Carbon / &FTa

(d) Brimstone/ &+

Q9. Which acid is found in Vinegar?
o< ® #i a7 vt T Sar 872

(a) Lactic Acid /=T Tfae

(b) Citric Acid /ATseF Ufee

(c) Malic Acid/fer® T

(d) Acetic Acid /Tf&fes ufae

Q10. To avoid ‘knocking’ of the engine of a car, which one of the
following is used as an anti-knocking agent?

T F o F AR § = F g, 9 & gh-atfi o F
R RRB NTPC STAGE-I

25 Previous Year Papers

(a) Ethyl alcohol / T seahige

(b) Butane/Eﬂ%_rr

(¢) Lead Tetra Ethyl / 3 ZaT wfoer Online Test Series
(d) White Petrol /aTze J2Iet
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Q11. If a ball is thrown up, which of the following does not

addazy1
change? & & rublications
I T AT FT FIT HFT ATGT 5, a7 (A9 § T T A1 q1eaT 82
(a) Acceleration due to gravity/ J[&caTHY T & FHILIT @I SSC ADVANCE MATHS
(b) Speed T CRACKER COMBO 2019
() Potential energy/ Farfas o=t
(d) Distance/3% 3 Printed Edition Books

CRACKER-GEOMETRY

Q12. The SI unit of intensity of sound is __. MENSURATION
gafer T aar HT SI IFHTS AT 8?2 ALGEBRA
(a) Watt per square meter/ aTe S a7 Hiax

(b) joule per square meter/ [T g &t Hiex
(c) newton per square meter/ 2 afa a7 Hiex
(d) tesla per square meter/ &7 I a7 Hiex

Q13. To keep drinks at the same temperature for quite sometime, the walls of thermos bottle are
coated with:

9T FHT AN THT F T q9 qrOH™ 9= W@ F e, S99 aiqer i <9 aaqg o e afd B smar
&

(a) Aluminium paint/wﬁlﬁ'&'ﬁ' Ue

(b) Lead Powder/E 9T3EY

(c) Silver layer/f&rea¥ o3a

(d) Mercury Layer /A¥aH<T 9%

Q14. The atmosphere exerts enormous pressure on us. But, we do not feel it because

TATEL GH I T 91 STAAT gl AT, TH I HEHH gl gidv g F911h-

(a) Our blood exerts a pressure slightly more than that of the atmosphere/ AT T ATIHEA &l AT |
JTET ATerF T STAAT &

(b) We are used to it/ gH T8 T¥IET &

(c) Our bones are very strong and can withstand the pressure/ FHIXI ZIgaAT dgd ASGT & 3T IATT HT
TTHAT T Tl &

(d) The surface are of our head is very small/ gAT f&¥ 7 5qg & dgd ®H g

Q15. The sensation of weightlessness in a spacecraft in an orbit is due to the -

TH F& A TF FARET I H Toegiaar it e FHROU AT g -

(a) Absence of gravity outside /3TEY TFCATHYTT %l ATITEAT

(b) Acceleration in the orbit which is equal to the acceleration due to gravity outside /9Tg< [&cd TRYOT
EGEIE IR

(c) Presence of gravity outside but not inside the spacecraft /aTg¥ [EcATHUT &l ITRATT FIaT & AT
FATET I 2T Al 2l g

(d) Fact that spacecraft in the orbit has no energy /T & s{qf¥er I T IS Holl A5l §
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Q16. Scurvy (bleeding of gums) is caused by deficiency of which vitamin?

At (AGST A g) e et it |1 & S grar g2
(a) Vitamin K/ faeTfa= K

(b) Vitamin B2/ faeTta= B2

() Vitamin C/ fa=1fe= C

(d) Vitamin A/ feeTf®= A

Q17. Achras sapote is the scientific name of

AT I [T I a1 827
(a) Custard Apple/ STt

(b) Gulmohar / [AHTET

(c) Tamarind/ TH=T

(d) Chiku/=%

Q18. Prawn belongs to the phylum
T fhe wreew @ d46fEq /2

(a) Arthropoda /3TTdI=T

(b) Cnidaria /fA=Tf=T

(c) Echinodermata /T HTT

(d) Chordata /&T<aT

Q19. An adult human normally has -
T gIEH A< & AW -

(a) 6 molar teeth /6 TTE &(d

(b) 8 molar teeth / 8 318

(c) 10 molar teeth / 10 3Tg 0d

(d) 12 molar teeth /12 T2 &(q

Q20. Plants get water through the roots because of -
YTt Y TSl o qTeay F I v fAerar 82

(a) Elasticity / &=

(b) Capillarity / Faeitfe

(c) Viscosity / F=raf=rara=

(d) Photosynthesis / STeTST Ha[ooT

Q21. Crystallisation is an example of?
fFareeettenor freT IeTETr 82

(a) Physical Change / #ifas afeaa+

(b) Chemical Change/ TTHTIHF F&aTa
(c) Chemical Reaction/ TrETATH® TATHAT
(d) Galvanisation / feaw sheor
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Q22. Vinegar and Baking Soda together produce
T stk afFT e e T IATET HL g
(a) Copper/ @TaT

(b) Carbon Dioxide/ FTa STS3AFATES

(c) Copper Sulphate / FfIT Tehe

(d) Magnesium Oxide/ #forra sitaaTzT

Q23. Which of the following alloys has a maximum percentage of Copper?

Ruftea & & e forsy arq & siax #1 stfeeras giasa 872
(a) Brass/#&mq

(b) Bronze /sidiaerst

(c) German Silver / S8 ffrea<

(d) Delta Metal / =T 4T

Q24. Which metal exists as a common component in Brass, Bronze and German Silver?

fiaer, FieT 3T STHA e § T ¥ 92 & €7 § 9 °1 G417 A5E 87
(a) Antimony / GEHAT

(b) Copper / ai=T

(c) Tin/ f&=1

(d) Zinc/ STEAT

Q25. What is the mass number of an element, the atom of which contains two protons, two

neutrons and two electrons?

T qd T T AT FT 3, Forerss qeamey & 2 M, I =21 AT A TAFIT AR B &2

(a) 2
(b) 4

(c)6
(d)8

Q26. Who established the foundations of the quantum theory?
Fiew fRrgia & o few wnfi i

(a) Max Planck / #3 wi

(b) Mark Nicholas/ ®T% fReTerer

(c) Albert Einstein / 3eae sTEeee

(d) Alfred Hitchcock / s7e%E gt

Q27. If in a motion, the axis of the rotation passes through an
object, the motion is called

ot o &, oA oaw G g @ mear g, @l wr
gl TaT g

(a) Orbital motion / e T

(b) Circulatory motion / TRE=0T T

(c) Spin motion / f&ae Tt

(d) Oscillatory motion / rereefter T
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Q28. If an object, on a free fall from a certain height, reaches

the ground in 1 second, what is its velocity on the impact with RRB NTPC 2019

the ground?

N L At T e ey PRIME PACKAGE

T ST ¥ ey ST T T 3 ¥ 87 100 + TOTAL TESTS
(a) 4.9 m/s
(b) 9.8 m/s 40 Full ITength Mocks
(c) 14.7 m/s 30 Section Wise Tests
(d) 19.6 m/s 10 Previous Years papers
20 +Topic Wise tests
Q29. What is the angle between centripetal acceleration and eBooks

tangential acceleration?

FAIPT T T ST T & S 197 7T &2
(a) 90°

(b) 45°

(c)0°

(d) 180°

Q30. Rectifiers convert ___.

EEEEE _ F IO 4 |,

(a) high voltage to low voltage /S ATeesT &l FH AleesT §
(b) low voltage to high voltage /& FTeest &l 3g ATees H
(c) ACto DC/ACHT DCH

(d) DC to AC/DC #T AC |
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